DGN File: Li\Standard_Drawings\Imper1al\20128pproved\_Supplemental _Issues\Supp&Approved\BAB4CL.dgn

18-SEP-2013

12 FT -6 INCH

WOOD BREAKAWAY POST

1INCH X 1 1/8 INCH SPLICE BOLT SLOT (TYP)

BOLT SLOT (TYP)

(FPBOT)

~ > 16 INCH B - - o
__61/4INCH_| _ 6 FT -3 INCH L 6 FT -3 INCH _ | _61/4INCH_ ~ > S ©
~ = = - - 2" | _4INCH_ | _4INCH_| 4INCH_ | 2" | 15/16 INCH R NG
g 45" | _3SPACES @4" | - S T T 3/8 INCH R -
“ g o 1/4
=) =) =) =) Ve 1/4"
[} (=) [ ) (=)
[ [==) D oo oo b [ =3 T
o <] 5%
D D [ N at 3
(==) femm dq o o b — [ o . o . 11/8" 3/16" MIN
[} — [} )
1 B 1 5/8" 4
4 1/4" 11/16 INCH HOLE ( EIGHT REQUIRED)
- . 29/32 INCH ANCHOR ATTACHMENT SLOT 21/4"
o 8 1/2 INCH 3 INCH X 2 1/4 INCH X 1/2 INCH END PLATE
| 1 INCH X 1 1/8 INCH SPLICE BOLT HOLE ELEVATION SECTION B-B
RAIL ELEMENT (RWM14A) e 6 e ANCHOR BRACKET (FPA01)
SEE NOTE 3 - > 8"
51/16" - -
: N ! 3/8" <«
l QRRAE 3/4 INCH CABLE ,— SWAGE 1
7 716" 51/2" = , , / y 3/16 INCH X 1 INCH X 8 INCH PLATE e
I*\l | | | ) y | DNOnIononnnnn TACK WELD TO 5/8 INCH PLATE b
A < TZU [ I :
1 i 1| HoLelr |5 1INCH X 7 INCH STUD R N | ©
i Lo | 1= THREADED FULL ‘
= =5 o [ (IR [ LENGTH (TYP) T ; v
[ i [ ’T ‘
6 | | —'4‘3 ~—i CABLE ANCHOR ASSEMBLY (FCAO1) LA] 1/16 INCH HOLE
5l 2 — 2 3/8" o 1
Z| & HOLE R . ! I 2" 8.1/4" 24 INCH 5/8 INCH STEEL PLATE
0 L | | | | "
T - o I | | 3/4" HOLES | i NOTE:
© =T = = = rY | | | | A T R16 5/16 INCH INSTALL BEARING PLATE WITH
o o I I : 3] 30 5 INCH PORTION UP. SECURE PLATE
[— 3/4" . I I S (S T -3 TO POST USING TWO NAILS AT
HOLES [ I I ™ = TOP OF PLATE.
Y [ | \\Ir Y ©
b ! N v 1INCH X 1 1/8 INCH SPLICE BEARING PLATE
o I I TS 8 INCH X 6 INCH X 0.1875 INCH
| | | |
| | | |

o
I
I
1l

2 INCH MAX

:\

| | H
7/7/3 ?7 | | % | | KWN
[ | |
[ | |
[ | |
[ | |
L 1 -
& = = e 9
[ | |
[ | |
[ | |
[ | |
[ | |
[ | |
[ | |
[ I
ANCHOR POST ASSEMBLY

FOUNDATION TUBE (PTEQS)

5/8 INCH x 10 INCH BOLT

NUT AND WASHER

SEE NOTE 3

| _—— WOOD BREAKAWAY POST

5/8 INCH X 7 1/2 INCH BOLT

NUT AND WASHER

(TWO REQUIRED PER POST)

| — FOUNDATION TUBE

MARKER POST AS
PER STD DWG CC 1

STANDARD 2 INCH ID PIPE
SLEEVE (2 3/8 INCH OD)
BEARING PLATE

TWO 1 INCH NUTS
AND WASHERS

ANCHOR POST ASSEMBLY

C [

END SECTION (ROUNDED)(RWEQ3A)

ANCHOR PAY LIMIT (12 1/2 FT)

TYPICAL BARRIER

|
75 INCH
16" 12"

TWO 1 INCH NUTS
AND WASHERS

m

MATCH BEAM
GUARDRAIL
POST AND BLOCK

W-BEAM ANCHOR INSTALLATION

w

NOTES:

1.
2.

DO NOT USE ON APPROACH END.

USE ON BARRIER TRAILING END ON DIVIDED ROADWAYS WITH A
POSITIVE SEPARATION OR MEDIAN WIDTH GREATER THAN OR EQUAL
TO 36 FT MEASURED FROM EDGE OF TRAVEL LANE TO EDGE OF
TRAVEL LANE WHEN BARRIER END IS OUTSIDE THE MAXIMUM
REQUIRED CLEAR ZONE AS DEFINED IN STD DWG DD 18 AND THE
AASHTO ROADSIDE DESIGN GUIDE, CURRENT EDITION.

. MANUFACTURE ACCORDING TO AASHTO GUIDE TO STANDARDIZED

HIGHWAY BARRIER HARDWARE. NUMBER IN PARENTHESIS IS
GUIDE REFERENCE NUMBER.

. MEET STANDARD SPECIFICATION 02841 STEEL AND

GALVANIZING REQUIREMENTS.

[SUPPLEMENTAL DRAWING]

REVISIONS

REMARKS

APPR.

1[8/29/2013 |SDD |MODIFIED NOTE 2.

DATE

NO |

UTAH DEPARTMENT OF TRANSPORTATION
STANDARD DRAM/INGS FOR ROAD AND BRIDGE CONSTRUCTION
ﬁ/ SALT LAKE 9;7 UTAW

RECOMMENDED FO%WOVAL : ;‘,

CHAIRMAN STANDARDS COMMITEEE

AUG 29,2013
DATE

AUG 29,2013

DATE

14

o

2

g |5

3 |

£z

o w

< [a)
=
<
o
)]

o
DIH_J

00>

sZ- E

<< 9

w z

2

m <

! &

= 2

3

Z

b

STD. DWG. NO.

BA 4C1




